INTERMEDIATE EXAMINATION - 2023 (ANNUAL)

Model Set
Sub. Code - 328 Computer Science
Time :- 3 Hours 15 minutes (PR fasm) Full Mark - 70
9y ;3 "< 15 fAe LA, .Sc. & .Com. — (OPT) quifes — 70

Total no. of Questions : 70+20+6=96
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Instructions for the candidate :-

1. Rlereffl OMR ISTR—UFE R 30T U YRA®HT HHid (10 3Dl BT )
araey ford |
Candidate must enter his/her Question Booklet serial No. (10
Digits) in the OMR Answer Sheet.

2. RIeefT JATHIE 370+ Tl H & IR S |
Candidates are required to give answer in their own words as far
as practicable.

3. i @ik SIRA W RY gy i quite Fiffe oxd §
Figures in the right hand margin indicate full marks.

4. gedl B SMYdd Ugl & o1 wWientddl &1 15 e @1 srfaRad

Ty fear T 2|

15 minutes of extra time has been allotted for the candidate to

read the questions and follow the instructions carefully.

5. g8 U YRA®T a1 WSl H &, GUes—3, Ud Gus—q |
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This question paper is divided into two sections : Section-A
and Section-B.

Gus—3 H 70 qEITS U 8, [H A fHEl 35 ULl BT IR oAl
AR 21 35 UeAl 9§ 37¥d IR o W YA 35 IR Bl & JATDHA
BT Y & ol 1 3fcp fHEiRT &1 97T SR o & oy Sucre

R T OMR—STR 36 ¥ ¥ T W8l fAbed &1 &ret /el 97

U W W AN | [ fl geR @ ®EeR /TRd Uerl / =fs / Agd

afe OMR STR Ua® H YART SHRAT #4917, 3T YR URomH M=
BT |

In Section-A, there are 70 objective type questions, out of which
any 35 questions are to be answered. If more than 35 Questions
are answered, then only first 35 will be evaluated. Each carrying
1 mark. Darken the circle with black/blue ball pen against the
correct option on OMR Answer Sheet provided to you. Do not
use Whitener/Liquid/Blade/Nail etc. on OMR Answer Sheet,
otherwise the result will be invalid.

GUsS—g H 20 AYITNII U 2| UAF & forg 2 i FeiRa &, s
A frgl 10 Tl BT IR <A1 AfErd 2| 39S SifaRad 39 @S # 6
e IR T A W 2| uRdE & foy 5 3 FeiRa g, e A
f=gl 3 UeAl &1 IR <7 AfTart 2 |




In Section-B, there are 20 Short answer type questions, each

carrying 2 marks, out of which any 10 questions are to be

answered. Apart from this, there are 6 Long Answer Type

Questions, each carrying 5 marks, out of which any three

Questions are to be Answered.

8. fPl TRE & Selagi-id IUDHROT BT YANT YUicT afsid 2 |

Use of any electronic appliances is strictly prohibited.

gus—31/ SECTION-A

(axgfss g94) /Objective Type Questions.

U AT 1 ¥ 70 b b YA U b A1 IR fdbey feu 1 & 599 9 s
FE B | AU ERT g Y HE fdwey w1 OMR—3fic wR fafed o | fh=l 35

gt BT IR < |

35x1=35

Question No.- 1 to 70 have four options, out of which only one is correct

you have to mark your selected option, on the OMR-Sheet. Answer any 35

questions.

1. KD Bl e 9 BB I ¢ |
(A) S
(C) e

Stack is also called as —
(A) LIFO

(C) LILO

(B) foreht

(D) wrer

(B) FILO

(D) FIFO

35x1=35



Putch() is a/an .........

(A) Input Function

(C) Variable

Longis a/an .........
(A) Function

(C) Constant

conio.h T& ......... =

(A) ST Wrgel

(C) fofam

conio.hisa/an .........

(A) data file

(C) linker

(B) 3mScyc B

(D) ST UHR

(B) Output Function

(D) data type

(B) 3R
(D) ST PR

(B) Operator

(D) data type

(B) g=X wrged

(D) YR =iid

(B) header file

(D) program block

(B) faRIydr ydR
(D) drfpd 3ffavex



NOT NULL isa/an .........

(A) Query (B) attribute type
(C) constraint (D) Logical operator
S ¥Hh WRT A8l B g Al [l 9] BT LD H STAT Bl ... EEl

SITAT B o9 Wb @lell -l 8Idl & ol MseH & ddarad 3R fadu &l

TP Bl ... JATIRTE HET ST 2 |
(A) drd, ger (B) 921, 9ra
(C) STef, 819 (D) 824, Sef

Inserting an item into the stack when it is not full is called .........

operation and deletion of item form the stack, when stack is not

empty is called ......... operation.
(A) pop, push (B) push, pop
(C) insert, delete (D) delete, insert

......... U <R 2 T4 T BR W q&IAl Pl SiTel el 2 3R gaX |
gl faar S 2 |

(A) PR (B) &

(C) (D) BIse

......... is pile in which items are added at one end and removed
from the other.

(A) queue (B) stack

(C) List (D) File



ST A AR BT g Bl 3fef § ?

(A) e (B) Ser

(C) fosurn (D) BT
Removing redundancies from database means ?
(A) summarization (B) elimination
(C) hiding (D) casting
B W IR AfhATHS AT T 7

(A) ¥ (B) THaTe
(C) Sirar (D) A+
Which one is non procedural language ?

(A) C (B) SQL

(C) Java (D) C++
......... e BT 312 B Py WY ol DI &HT |

(A) farmra (B) sgudr

(C) ¥ ¥R (D) encapsulation
Theterm ......... means the ability to take many forms.
(A) Inheritance (B) polymorphism
(C) member function (D) encapsulation
qfdrd S ......... 3ifRex gRT T ST 2 |

(A) 3TR (B) R

(C) ar (D) ++



12.

13.

14.

Logical addition is done by ......... operator.
(A) AND (B) NOR
(C) OR (D) ++
ST AT YUTTel! T 3R B 2

(A) 10 (B) 8
(C)2 (D) 16

Base of decimal number system is ?

(A) 10 (B) 8

(C)2 (D) 16

gfera oo @ ... Al HET ST § ?

(A) drorrforg Rafir (B) 3 ford drsTfora
(C) g drsHTiord (D) drerTora

Boolena algebra is also called ......... ?

(A) Switching Algebra (B) Arithmetical Algebra
(C) Linear Algebra (D) Algebra

I |1 TH AT & 8 ?

(A) BT (B) et
(C) g (D) it
Which one is not an entity ?

(A) Student (B) teacher

(C) fee (D) hobby



15.

16.

17.

18.

f=foRad & 9 ®IF A1 dHiS 9o Bl fSofle &= & forw wanT fdar

SITaT 8 7
(A) g21U (B) fierg
(C) ferapred (D) ™™

Which of the following SQL command used to delete table ?
(A) DELETE (B) ERASE

(C) REMOVE (D) DROP

f=ferRad # 9 @9 A1 fade™ gevie R goldr 8 |

(A) fede gfe (B) Teft
(C) Thet URUITH YHIHRT (D) TRTe

Which of the following application runs on internet.

(A) Ticket booking (B) Tally

(C) School result processing (D) EXCEL

MUl &7 A4 & |

(A) $cxHC UICThid (B) Uy S €Y,
(C) ggTie (D) Sexie e

IP stands for .........

(A) Internet protocol (B) Www

(C) Internet (D) Internet post
FYR AT ......... 2 |

(A) FRGTRI (B) R



19.

20.

21.

(C) ¥arR (D) SwRiad |t

Computer network is a/an .........

(A) interconnection (B) sharing

(C) communication (D) All of the above
T () eevennnn g

(A) =it = (B) ¥RIE

(C) ma=r ™ (D) SeT M

main() is ......... ?

(A) block name (B) Function

(C) Function name (D) data name

e A PeT MMUDT Befl BT AF &, AT B A A 2 °
(A) JTTdHT HefT #R BT BT 7 8

(B) 39T hel #_1 Pell Bl 75 181 ®

(C) MMueT Hel AT peTT | A ' Ahl §

(D) JAMUSDT HeAT W HeET bl A BT Fabvell & AT BT

If My class is a friend of your-class, which is true ?
(A) Your class is a friend of My Class.

(B) Your class is not a friend of My Class.

(C) Your class cannot be a friend of My Class.

(D) Your class may be or not a friend of My Class.



22.

23.

(A) SR T8 &
(B) Td I ©

(C) Tr<ll & = &

(D) U TR FHRTE © 3R Udh QR a7 7
Aclassmay .........

(A) not have friend

(B) have one friend

(C) have any number of friends

(D) have one friend function and one friend class

SeT four &1 ST .......... g & forg faear Smar 27
(A) STATZT B (B) ol avf & Aew
(C) R arfewr gR (D) T BT

Data hiding is use to create ..........

(A) inline function (B) private class members

(C) non scalar type (D) cryptic code
fr=forRaa & & @19 A1 ffiRex 3RS & AHhar & ?

(A) = (B) = (X1 Ritegz)
(C) % (Ardiep) (D) ?7:(wre)

Which of the following operations may be overloaded ?
(A) .member (B) ::(scope resolution)

(C) %(modulus) (D) ?:(conditional)
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24.

25.

26.

f=forRag # 9 fhd e TRex & w9 H MdRArs Har S Jodr g ?

(A) 3iTTRe=x() (B) ~3fRex()

(C) 3mei=() (D) =3irdi()

Which of the following may be overload as an operator ?
(A) Operator+() (B) Operator()

(C) Op~ () (D) ~Op()

f=feiRed # & @9 aRT goRI & I8 | Fdfd € ?

(A) Char (B) Wchar_t

(C) Haet ¢ (D) I (A) 3l 4.

Which of the following belongs to the set of character types ?
(A) Char (B) Wchar _t

(C)only a (D) botha &b

fFrforRaa @ o1 @ ot 7 ?

g<("uwdl)(Char)

(A) D BT FAD

(B) @ @I Char &1 T IRll & ol gad

(C) Uf$ex U& char* @ od gY &1 & & oy 3R & int <aT @
(D) T& char* @& ofd 8T &1 &N AR UH Jad Bl int IR a9 IR G |
What does the following statement mean ?

Int(*fp)(char®)

(A) Pointer to pointer

11



(B) Pointer to an array of char
(C) Pointer to function taking a char* argument and returns an int.

(D) Function taking a char* argument and returning a pointer to int.

27.

28.

29.

fFreforiad & | @19 oy 8 ?

(A) SeramT;

(C) ge*diamg=o;

Which of the following is illegal ?
(A) int*ip:;

(C) int*pi=0;

The constants are also called as
(A) const

(C) Literals

(B) R v, *wadi=0;

(D) ¥¢ isqerIP=&i;

(B) string S,*sp=0;

(D) int i;double*dp=2&i;

(B) WH=rR
(D) SWRIFT H | Py el
(B) preprocessor

(D) none of above

f=feRad & & 19 981 T 9 Th GRoN =id al § 2

(A) 3€ ARUI[10];
(C) g€ wxef ;

(B) Char &xvft [10]
(D) &=vit {10};

Which of the following correctly declares an array ?

(A) int array[10];

(C) int array ;

12

(B) char Array[10]

(D) Array {10};



30.

31.

32.

9 daal arell fhell Aol & SifcH T &1 JITHAMTRT [T &1 & 7
(A) 9 (B)o
(C) 8 (D) SRR TR

What is the index number of the Last element of an array with 9

elements ?
(A)9 (B)o
(C)s (D) Programmer define

FrfeiRad # 9 @19 WRoll § GUdla Aidd dcd dd ugadr © °
(A) TR [6]; (B) &= [7];
(C) =R (6); (D) =T ;

Which of the following accesses the seventh element stored in

array?
(A) array[6]; (B) array[7];
(C) array(6); (D) array;

fr=forRaa 5 & @9 wxoll § g8l @ &1 99RT Ugd <l © °?

(A) w=eT [0]; (B) &= [1];

(C) ==ell [2]; (D) el

Which of the following gives the memory address of the first element
in array ?

(A) array[0]; (B) array[1];

(C) array[2]; (D) array

13



34.

35.

36.

U Alferdt H Ud ......... IR & Uh FHg b drd Hey B Uit

HT B |

(A) Piet (B) dferT

(C) it (D) wrifies Hoh

A........ in a table represents a relationship among a set of values.
(A) column (B) row

(C) key (D) Primary key

......... g BT YANT Up Ufdd &I defid &= & foru fovar o 21

(A) fareryar (B) Tua

(C) SgrEvu (D) wice
Theterm ......... is used to refer to a row.

(A) Attribute (B) Tuple
(C) instance (D) Field
UfeeIe Wee & alfeldl @ ......... BT FEWd BT & |
(A) Plem (B) &7

(C) Repts (D) euet
The term attribute referstoa ......... of a table.
(A) column (B) key

(C) record (D) tuple

......... grmE H FfeAl BT UdT S AR I S Bl UlHAT DI AR

HRAT 2 |
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37.

38.

(A) fageryor (B) &R
(C) feafiis (D) frrware=

......... refers to the process of locating and removing the errors in

program.

(A) Analyzing (B) correcting
(C) debugging (D) Executing
T GAF ... g

(A) U =R BT Tl

(B) TR &1 UH Havd 3MTel T Ugdal off Hhdl &

(C) ud HUEd o’ & foly U =R

(D) & UaT =R &I STl SR

A pointeris .........

(A) The address of a variable

(B) An indication of the variable to be accessed next
(C) A variable for storing addresses

(D) The data type of an address variable

HFTT BT AT ......... I T BT ©
(A) S9 DI (B) Rivrer sicH
(C) rsd (D) #

(A) Double quotes (B) Single quotes

15



39.

40.

41.

(C) Parenthesis (D) #

fa=foRad & 9 & H 3R & URMe 9™ & ddey IRTTd § TR

HNATT?
(A) IRM® = T’ (B) URfep="t=1’;
(C) URMHh="17" (D) URf¥®="7a";

Which of the following will store the letter H in character variable
named initial ?
(A) initial= ‘H’ (B) initial= ‘H’;

(C) initial= "H” (D) initial= “H;

wCTHe Tl <ol Sf> H, T 8 2

(A) & v ot ® (B) & s afewr =R &
(C)ar ar (A) a1 4. (D)= a1 (A) IR T & .
In the statement template <class T>, whatis T ?

(A) Tis a class (B) T is a scalar variable

(C) Either (A) or (B) (D) Neither (A) nor (B)

Iz fIRIYaT S 9% @ 3R UR FHA FATST DI A3l dd H B

DT AT AT B, ..o g
(A) ST (B) agfaare
(C) formaa (D) AeCIeTRa T

The feature that allows the same operations to be carried out

differently depending on the objectiis .........

16



42.

43.

(A) Polymorphism (B) Polygamy
(C) Inheritance (D) Multitasking
foTq, ST SUANT HRAT =1y |

(A) AT 3iTuReR (C) seellg()

(C) fereiay, (D) put()

To write data that contains variables of type float, to an object of type
of stream, you should use.

(A) The insertion operator (B) seellg()

(C) WriteQ (D) put()

Ife Y & a3l B1 UTEdh & ®Y H gIvd B 8, O Usal UED, NI

Ured; fFrEfiad § & b9 |1 ¥ BI9T 918y ?

(A) T% ] BT 1 ReR AS STT &1 T el Ul FUsd el

(B) y® a] fHdT ¥l TSR BT &I Yeb 37T Ul FUBT Hfl

(C) v¥& g fHdl W1 IR—Rer ST W &1 (& el Ui FULd
Eagll

(D) 39 Teh &1 9 I &I IGAT DI LU T DR Fabel

If you declare two objects as customer first cust, second cust; which
of the following must be true ?

(A) Each object will store a separate copy of any static member data

(B) Each object will store a separate copy of any member function

17



44.

45.

(C) Each object will store a separate copy of any non static data
members

(D) You cannot declare two objects of the same class

ey fagla 8 b ... |

(A) U@ B T arel o Uh AR W g B A1y

(B) Ush A S0l &1 914 3Mfdes fAfre awgeil W oF] fhar S Hadm 8
(C) W+ Had P STINT Hadd adl fHaT ST Adhar g o9 S I
difehes gaaii Bi

(D) T Haed M fafi=1 did! &1 Mga o) Adhal @

In heritance is the principle that .........

(A) Classes with the same name must to be derived from one
another

(B) Knowledge of a general category can be applied to more specific
objects

(C) C++ functions may be used only if they have logical
predecessors

(D) One function name may invoke different methods

(A) DdeT T Tt Hrd (B) dael 0 B
(C)am @ o aro=dl a1 3 wrd (D) 39H | BIg TR

Programmer — defined functions can be .........

18



46.

47.

(A) Value-returning functions only
(B) Void functions only
(C) Either value-returning or void functions

(D) None of these

Uh HaE o7 ¥ IR bl 3ifeolde b 999 TR Talfold w9 & Pl fhar

(A) PEZFR (B) 3deR

(C) fResr (D) IR

A function that is called automatically each time an object is created

isa(n) .........
(A) Constructor (B) Contractor
(C) Builder (D) Architect

A 39 R Uy & WRMer §al § f6d ff =R & folv &

(A) BFRTE TS H 3 F41 AUGUs| H fShiee A 8FT AU

(B) S99 X & TTs 3R 9Hl IR # e A 8MFT1 A1y

(C) S TR & dT3 3R 94 WX # fSiee A 8FT1 A1
(D) 89 UIeeRy # el 3 tIRTHier # fSwice @19 &1 81 dod
If you assign a default value of any variable in a function prototype’s

parameter list, then .........

19



48.

49.

(A) All other parameters in the function prototype must have default
values.
(B) All parameter to the right of the variable must have default values
(C) All parameters to the left of that variable must have default
values.

(D) No other parameters in that prototype can have default values.

T B 5 B8R AR bl avg & T 8 W @R WY 9 3gare

(A) H&EFR (B) Destructor

(C) Destroyer (D) cfimex

A function that is called automatically each time an object is
destroyed is a

(A) constructor (B) Destructor

(C) Destroyer (D) Terminator

CaleR &l R B dldl IRUGdd & 1T Fad FHIA ST DR .........
STl PR ¥ |

(A) Character (B) S9a1

(C) weire (D) it it

The most efficient data type for a variable that stores the letter C is
the ......... data type.

(A) Character (B) Double

20



50.

51.

52.

(C) Float (D) Long Integer
e MY By ATl DHRIHAI H I3l DI RN d1 & oy v
I BT IUINT HAT B 7, AT D! GRFIANT BT =iy

CH+ oo BIS H |
(A) 8= (B) BrimH
(C) wird DEIE

If you want to use a class to define objects in many different

programs, you should define the classina C++ ......... file.

(A) Header (B) Program

(C) Source (D) Text

T qof UTh 3 MBI ......... fh-IRT I BTBR, B Th el Y US Bl
AT B AHhd 2 |

(A) $-TT+1 (B) Ti—5+1

(C) TH+8—1 (D) $—T—1

From a complete graph, by removing maximum ......... edges, we

can construct a spanning tree.
(A) e-n+1 (B) n-e+1

(C) n+e-1 (D) e-n-1

gIotde WSl U SEER ¢ |
(A) ST T (B) wrferefiet a3
(C) o STar 3R Sidr (D) SWRITT § F P el

21



53.

54.

55.

Project Scheduling is an example of

(A) greedy programming (B) dynamic programming
(C) divide and conquer (D) non of he above

A+ AT § U A0 6 YH DI Al 7 7

(A) gc T [3] ={1,2,3}; (B) g v={1,2,3};

(C) < U[]= 71 scint [3] (D) e v (3)=[1,23]

How is an array initialized in C++ Language ?

(A) int a[3] = {1,2,3}; (B) int a={1,2,3};

(C) int a[ ]=new int [3] (D) inta(3) =[1,2,3]

fF=feRaa 5 & 39 e IRad Ser \Ye 7 7

(A) sl (B) Tdiver Us

(C) oIz U (D) e

Which of the following is a liner data structure ?

(A) Array (B) AVL Trees

(C) Binary Trees (D) Graphs

digex AICY & JMER W el W # g uforic &9 vaw™ faar San
g7

(A) "T+2 (B) *(T+2)

(C) *("v+2) (D) &(T+2)

How is the 2" element in an array accessed based on pointer

notation ?

22



(A) *a+2 (B) *(a+2)
(C) *(*a+2) (D) &(a+2)
56. f= # ¥ B W AR BT YR Tl & ?

(A) ITIfAdHar dar (B) RiTaI-Us ®aR

(C) FTPR DR (D) HTEIRTT HAR

Which of the following is not the type of queue ?

(A) Priority queue (B) Single-ended queue
(C) Circular queue (D) ordinary queue

57. fa=foRad d & &9 AT ST AT b GaTald 8l & 7

(A) o ST fhd aRE 9 SeT H eXBR aRd

(B) |aTer™ ST TOET &R &

(C) Sarer o Ridaw Ffeai & wife wedt &

(D) Sared St Ta fIfd wedr @ gedr @ fou foft axg @ e
& B

From following which is not the operation of data structure ?

(A) operations that manipulate data in some way

(B) operations that perform a computation

(C) operations that check for syntax errors

(D) operations that monitor an object for the occurrence of a

controlling event.

58.  WH++ H Wi 7 Rgw 1 ufcivercg &4 fdHar e & ?
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59.

60.

(A) auif @1 T wvof (B) =l o ) @

(C) 3= 21feH Sel yeRi @ A (D) url @t fefasfore

How are string represented in memory in C++ ?
(A) An array of characters

(B) The object of some class

(C) Same as other primitive data types

(D) Linked list of characters

SQL ¥, 29 &l R AIudRl & dgd- & fou d ®aie &1 SUAN

e Sirar ® 2
(A) dwfeqd arferan] (B) e arferant
(C) uRadH arfera (D) SWRIad T

In SQL, which command(s) is (are) used to change a table’s storage
characteristics ?

(A) ALTER TABLE (B) MODIFY TABLE

(C) CHANGE TABLE (D) All of the above

SQL #H, =1 # | &I ST ulR9INT 9191 HHIS -8l © 2

(A) ¥ 95l (B) e o

(C) srgar (D) 3r9e

In SQL, which of the following is not a data definition language
commands ?

(A) RENAME (B) REVOKE

24



61.

62.

63.

(C) GRANT (D) UPDATE

SQL ¥, fH FHHS BT IWNT Sellbe Rl & UAd IS dI ddd Ub

gfy &1 =g B B fory fham er 2 |
(A) 3T T+ (B) srgfafaa g+
(C) =1 9 (D) SWRIad T

In SQL, which command is used to SELECT only one copy of each

set of duplicable rows .

(A) SLECT DISTINCT (B) SELECT UNIQUE

(C) SELECT DIFFERENCE (D) All of the above

Th HAIS Sl 3Tl Th Rebls H Uh T Tb A Ald Bles dacrl B
Ffaer <1 = |

(A) afAfera o (B) e

(C) g3 (D) SwRYad wl

A command that lets you change one or more fields in a record is

(A) Insert (B) Modify

(C) Look-up (D) All of the above

QEHRT) = TR OHRA= () (THRA) T gt 1 gl dvar
g7

(A) fafrra (B) Sirseidet

(C) fafSTe =T arett (D) Saa@mm!

A(B+C) = AB+AC; A+BC=(A+B)(A+C) represent which Laws ?

25



64.

65.

66.

(A) Commutative (B) Associative

(C) Distributive (D) Idempotence
T+ = T QU+d)=v f&a srEl &1 gfafafea axar @ 2
(A) aa®! (B) srar=reor

(C) Sirsaren (D) fafer

A+AB=A; A(A+B)=A represent which laws ?
(A) ldempotence (B) Absorption

(C) Associative (D) Commutative

AB+AC = (A+C)+(A+B), AB+AC=(A+C)+(A+B) fba vwa &1 ufaffera

BIAT B onnnnnns |
(A) 3mH HgHfd (B) ATIROT
(C) 1 #ff (D) e BR®

AB+AC = (A+C)+(A+B), AB+AC=(A+C)+(4+B) represents which

theorem .........
(A) Consensus (B) Transposition
(C) De Morgan (D) Included Factor

& &oid F=AB+BC+AC, F = AB+BC+AC H ® .........

(A) TG B (B) Maler wrH

(C) drep Ui B (D) 5 ey Bid

The logic expression F=AB+BC+AC, F = AB+BC+ACisan .........
(A) SOP form (B) POS form
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67.

68.

69.

(C) Standard SOP form (D) Standard POS form

OSI anfdheaer # AIfdd WA el Bl ......... & wY H WHART BT 2 |
(A) faca (B) aTsed
(C) (A) &R (B) gt (D) 37 & Big A1 &l

The physical layer in an OSI architecture transfers the data in the

formof.........
(A) Bits (B) Bytes
(C) Both (A) and (B) (D) None of the above

OS| #fed 3nfredar § BT AT IR TR W BRI DI SIHC Bl § 7

(A) Physical Layer (B) T #gefm dcl
(C) lca® = (D) eiHUIé WRa

In an OSI model architecture which layer transmits the error-free

frames ?

(A) Physical Layer (B) Datalink Layer
(C) Network Layer (D) Transport Layer
OS| Hfsd fdbaR |, Ydbe ......... IR H §HY TG
(A) BT 1=Rd (B) g Sigell del
(C) ead wRa (D) giwE W

In an ISO model architecture, the packets will be created in .........
layer.

(A) Physical Layer (B) Datalink Layer
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70.

(C) Network Layer (D) Transport Layer

OS| Afea anfdhcaR & ......... R A BT T iR AT B B |
(A) ¥ Tl (B) e St e

(C) Heas uxd (D) grede wRa

In an OSI| model architecture ......... Layer establish and Terminates

the sessions.
(A) Session Layer (B) Datalink Layer
(C) Network Layer (D) Transport Layer

Tvs—9q / Section-B

oY I 999 (Short Answer Type Questions)

U W 1 ¥ 20 TP oY SN 2| Bl 10 Ul & SR T | IS D oY 2
i fgiRa 2|

Question no. 1 to 20 are Short answer type. Answer any 10 questions.

Each question carries 2 marks.

1.

fra T & T BRI BT gRIINT B |

Define member function of a class.

STl Bigdd T 8 7

What is data file ?

TP AP BIsel U IS Pl URHATNT P |

Define sequential file access mode.
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10.

11.

12.

13.

<ty IR &I ARAT PN |
Explain POSTFIX conversion.
TERU DI HHSSY |

Explain polymorphism.

HefT HT fShiee gwaar Al T 2 |

What is default visibility mode of class.

HHTcHD RISl Bl IRAT Y |

Explain referential integrity.

FYR Tcad B (Bl TP UM BI ARAT I |

Explain any one application of Computer Network.
g mail F1 8 ?

What is voice mail ?

difsTed e @ 8 ?

What is Logic gate ?

qdd BT FRAT HIFTY |

Explain duality.

SIREICHESIC RN

What is exception handling ?
C++ & e HaeH Pl FHLY |
Explain friend function of C++
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14.

15.

16.

17.

18.

19.

20.

SIUHUE # AT ST T 8
What is meta data in DBMS ?

T ReR =R w7 8 ?

What is a static variable?

YO 3R Uh TR DI GRYST & dI 3N |

Difference between Declaration and Definition of a variable.

THh TR b M IR IRad qRR ) ool o |

Comment on Local and Global Scope of a variable.

TH W folds foRe & &9 31l 27

How is an Array different from Linked List ?
g <del T 7 ?

What is a table ?

TH Al FT 7 7

What is a Node ?

el 9o 939 (Long Answer Type Questions)

q T 21 9 26 ddb <" SR = | sl 3 Ul @ SR § | UAd & fov 5
3 fReiRa €|

Question nos. 21 to 26 are Long answer type. Answer any 3 questions.

Each question carries 5 marks.
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21.

22.

23.

24,

25.

C++ # e urimH ford, 98 e o7t S 91fda fovar oig, s <e
Ae emp_no IR emp_name I& BT B WHR B | WIHR B
% o1 accept() &1 HaIT ford IR UaRid &x1 @& fofv Display() B
ford, 5 HHaRAT & fory |

Write a program in C++ to declare a class ‘employee’, consisting of
data members emp _no, and emp _name. Write the member
functions accept () to accept the data. Display() to display the data

for 5 employees.

& 8 YUl HRAMSI Tb bl H@T B g9 UaRid HA & forg C++ H
T U ford |

Write a program in C++ to display the cube of the number upto given

integer numbers.

frddl 3 v quries |eam &1 o difeldl 9eRid o & forg C++
TP YU forg |

Write a program in C++ to display the multiplication table of

a given integer number.

operator over loading &1 ST axa RgT & Fars @od @ oy
C++ 4 urum ford |
Write a program in C++ to find the length of a string using

operator overloading.

P 3R I& BT ISR PR BHEI & IR B ye 3R i a1 & fory
C++ 9 vsp yrmA fordd |

31



26.

Write a program in C++ to read and print students details using class
& object.
100 3R 200 & 9 & A YUlipl &I AT 3R I9D AN A BIA D

foru C++ ¥ ve g ford <t 9 9 fawrsy 2

Write a program in C++ to find the number and sum of all

such integer between 100 and 200 which are divisible by 9.

32



